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‘Known to unknown’ is a :
(A) Teaching Method
(B) Teaching Maxim

(C) Teaching Technique
(D) Teaching Device

Teaching strategy is a :

(A) Plan to achieve objectives
(B) Method of teaching

(C) Extra activity in the class
(D) None of the above

Personality traits of Mesomorphic individuals
are :

(A) Traditional and social

(B) Peace loving and solitary

(C) Energetic and angry

(D) None of the above

In team teaching, a team of:

(A) Teachers, who prepare the teaching plan
and implement it

(B) Students, who prepare the teaching plan
and implement it

(C) Teachers and students, who prepare the
teaching plan and implement it

(D) None of the above

The level of anxiety which makes student
receptive of learning is :

(A) No anxiety

(B) Excessive anxiety

(C) Normal anxiety

(D) Learning has no relationship with anxiety

“It is wholehearted purposeful activity

organised in social environment.” This

statement indicates towards which teaching

method ?

(A) Demonstration

(B) Heuristic

(C) Problem Solving

(D) Project

Right to Education Act, 2009 has a provision for :

(A) Right to free and compulsory education

(B) No mental and physical punishment to
child

(C) Arrangement for protection of child rights

(D) All of the above

While assigning a ‘project work® to the

students, a teacher should always keep in

mind that it must have :

(A) Educational purpose

(B) Relation with real life situations
(C) Learning by activity

(D) All of the above
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9.  While doing group teaching, out of the 9.  WHfRe—ww &= wwy el @ afdwrd
following, which method you will apply to et @ wAEE 2 i § 6 e e
solve individualized problems of each student? &1 faftr &1 9 N ?

(A) Lecture (A) 0

(B) Programmed Instruction B) s aq&?ﬂ
(C) Tutorial E C; &ﬂﬂ"f

(D) Demonstration (D) ;

10.  The behaviour ofa teacher may be from ‘verbal’ 10. wAyw ufkar § Ree &1 @der wfed |
to ‘non-verbal’ in communication process. enfed a6 & 9adl § |
(A) Itis true (A) T8 98 8
(B) Itis not true (B) T8 TTad 2
(C) It is partially true (C) T IR w7 ¥ ud &

(D) None of the above (D) T:Tq?i?ﬁ ¥ 3 T

11.  Why micro-teaching is important for 11,  el—er TR oq Ger-(IenT Tl JMaeas € ?
classroom communication ? (A) qg_cﬁqq —g—gr
(A) To get feedback (B) fafd= Tl & R %'@

(B) To develop various skills
(C) To complete the lesson e Tﬁ o %_SI
(D) To evaluate (D) Hear %ﬁ[

12.  As a teacher, if you want to correct the bad 12. s B @ A gfe ey ey faemeft & gf[
habit of a student, which theory of learning e Bl IR Ted € a1 harcerd AT 991
you will keep in mind while planning the TG AT A S 5 Rigid o e § x@?
action ° :

(A) Insight Theory (A) Fgfe 3'@“%'.
(B) Trial and Error Theory (B) IR T4 gﬁf :
(C) Classical Conditioning Theory (C) WU 3 j'ﬂ SRR
(D) Ficld Theory (D) &= Rigrd

13.  Personality of an individual is which aspect of 13.  efida, fondl e & TagR & &9 a1 98 & °
his behaviour ? (A) GEHHG vel
Eg; Iiognitivc f:;pect t (B) v wE

on-cognitive aspec e
(C) Intellectual aspect © M
(D) External aspect (D) 9 9

14.  The practical method to make student understand 14, foerft @1 #feq weal &1 ol WM @
the meaning of the difficult word is to : aeilRe ) & :

(A) Teach them usage of such words in (A) & sat P arRl § YA S T
sentences e '

(B) Give their antonyms (B) I Tl IR

(C) Give their synonyms (C) Iéﬁ.ﬂ?q’ qar

(D) None of the above (D) ST A ¥ B Tl

15. A child is scared when he see black dog, black 15. Ud qcdd dlal E}ﬁ @l facel T4 Pl PIC B
cat and black coat. This conditioning is TEH X T AT 2| 39 UGR B CECEeE| L
involved in : ffed &

(A) Generalisation of response (A) Sﬂ’%ﬂT FT AT

(B) Generalisation of stimulus (B) SENG BT WG

(C)) Both (A) & (B) (©) 2 (A) 3R (B)

(D) None of the above / ,
(D) S ¥ ¥ g Tl

16.  What is the real carrier of hereditary traits ? 16. aﬂﬂﬁﬁﬁ Tlﬁ FT qdfdd Haed FT e 7
(A) Chromosomes (A) U GF
(B) Nucleus (B) ST
(C) Genes (©) e
(D) None of the above : ,

(D) ST § A P
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17.  One of the following is not the method of  17. fy=feriRed ¥ | v e A &) Oy =81 & -
educational measurement : (A) HEBR
(A) Interview (B) HHa—a=<hid Tl
(B) Norm-referenced Test (C) TR
(C) Questionnaire )
(D) Observation (D)
18. To understand the heredity, you must 18.  durEH DI G B fordl TURT ITTH HI ¥
understand : BLERINUIE
(A) The law of similarity (A) T FT R
(B) The law of variation (B) S 7 R
(C) The law of regression
(D) All of the abo%fe (C) wfem @ fem
(D) U &
19.  Which step is not included in Action Research ? 19. fhaems CELEIE] ¥ B T Ug afHferd e B 87
(A) Selecting the problem (A) G & T99
(B) Generalisation of results (B) R &1 ArrRiaoT
(©) Formulatior]l of action hypothrcl:ses ’ (C) frureTd TRepeaal B R
(D) Preparing plan to overcome the problem
(D) FHR B R & & forg I fmior
20.  From the following, which one is not the  20. fy=ffad § § &F & o7 v vd Wt
element of ‘guidance and counselling” ? FIATA B ?
(A) Adjustment (A) TARIG BT
(B) Orientation
(C) To develop emotions (B) .ﬂ : S
(C) wamt &1 faemy e
(D) None of the above i ,
(D) SUIw # § PIg TEl
21.  While writing on the blackboard, out of the  21. vMUE R forEd GHY, IR & ATHN d7 F
following options, what will you specially keep @ ford 3y Ty 919 &1 faoly e <& ?
in mind to decide about the size of letters. (A) wUE g1 Renfial & we @
(A) Distance between blackboard and students
(B) Distance between blackboard and teacher (B) e I R @ 7 {ﬁ
(C) PP B TS
(C) Length of classroom ; )
(D) None of the above (D) 9 § W IS T8
22.  The cognitive behavioural skill of enabling the ~ 22.  WsIMIcHd FAERIT P & id faem &
learner, to understand the use of theoretical dgifad Al & IYART B aRafad gRRufy
statements in real situations is called : ¥ TN © 989 9T pEdTaT &
(A) Understanding
(B) Application s kil
(C) Analysis (B) ST
(D) Synthesis (C) fazermor
(D) H¥eT
23.  From the following, which is the best method 23.  famfoRRea # 9 foedt faemeft & araRe wemmEt
of measurement of a student’s inner feelings ? P A9 &) garaq vy d A & ?
(A) Questionnaire (A) TG
(B) Interview (B) WEI®R
(C) Sociometry . ©) R
(D) Transplantation method D) T Yo Ry
24.  Teaching aptitude means : 24, f3eror JFEFYEr @ aqd @
(A) Devotion towards teaching work (A) e s & yfer gador
(B) Desire to become a teacher (B) REd T &) g1 7@
(O) Af!l the requisite abilities for profession (C) Rws & waar &) i aifda Araar) &
of a teacher . N
(D) Good rapport with student D) BT § 3T
25/35 87/107/108 D-3




25.  How will you mainly develop self-discipline ~ 25. a9 3 faenfdal # 7@ dR W wW@—orume
among your students ? e yaR fasfa a3 ?
(A) lemg them I'CSpOI’lSibi“ti@S (A) W Gﬁqa’@a W
(B) Telling them rules for good character (B) I ART B Fraw T
(C) Giving punishment C) TUE Fax
(D) Following the rules ED)) i E
26. A teacher plans his teaching learning process 26. e e U Rem-aAfrm ufhar @ Jee
keeping in view : T THT S H Gl §
(A) The objectives formulated (A) g Seew
(B) The human and physical resources B) HFd Td lﬂﬁ'c}; TR
(C) Both (A) and (B) (c; 0 T (B
(D) None of the above ED) ; &3 afﬁé =
27.  Which of the following is not the element of ~ 27. fA=fafad & & &F A1 SgaA IR BIee
‘Stimulus Variation Skill” ? BT dcd T2l & °?
(A) Set Induction (A) fa:u'ﬂ:[ W
(B) Movement e
(C) Gestures (2)
(D) Change in voice ED)) i_m A
28. Intelligence tests are used for : 28, f& TEON BT YART BT O g
(A) Grouping the students in school (A) faare o s & e faror o |
(B) Guidance purpose (B) fréem 3 TaeE gq
(C) Selection purpose ‘ T
(D) All of the above {g)) Wi qu‘]ﬁ %g
29. What is not essential for measurement of  29. fH 7UT & & oy T IMIYIS G ® ?
learning ? (A) fReror @t gfaeal &1 uer o
(A) To know tactics of teaching (B) Tdernaii @i YT ST PR
(B) To know validity of examinations (©) qSierell @ Rrvaeaar sd e
(C) To know reliability of examinations Rreiat i gt &
(D) To know acquired skills of the students (D) &l LR
30. The curve indicating complete information 30.  ferH @ IR H tgﬁ SHERI R IR el a%
about learning is called : D Hel AT &
(A) Curve of increasing return (A) q%TIFI G Ih
(B) Curve of decreasing return (B) S AT O
(C) Curve of equal return
(D) S-Shaped Curve (C) I e T
(D) TH-3MPR qp
31. Taenia solium belongs to the class : 31, qﬁﬁ]’f}‘ﬁ e @t # aar 8 ?
(A) Trematoda (A) gHEsT
(B) Nematoda (B) Hrierer
(C) Turbellaria C E-‘.W
(D) Cestoda ED; e
32.  The solubility of A;X3 is ‘y” mol.dm™. Its 32, AXa 9l faotaar ‘y’ mol.dm™ 2l GBI faerar
solubility product is : TUFAGE BT -
(A) 6y (A) 6y
(C) 36}’5 (C) 36 y5
(D) 108y’ (D) 108y’
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33.  Protein is made-up of : 33. U S BT
(A) Carbon, Hydrogen, Chlorine and Sulphur (A) a;ﬁ,['-{ g‘[ﬁﬁm FAN AT GoBY Pl
(B) Carbon, Hydrogen, Oxygen and Nitrogen (B) I, EEgIo, JadIo de ARge @
(C) Carbon, Manganese, Phosphorus and (©) FeT T SRERE quT AEEIoE I
amogen. . (D) $E¥, AN, dfedfioT g P
(D) Carbon, Iodine, Oxygen and Inorganic :
Phosphate ol
34.  Upper layer of lake during summer months is ~ 34.  7f4g} & 9841 # el &1 FI TR e &
called : (A) Tferdfa=
(A) Epilimnion (B) Ferfemfiam
(B) Metalimnion
(C) Hypolimnion (C) ETMRTHITS
(D) Thermocline (D) SHIETE
35. In infra-red spectroscopy, the prism usually 35.  Ja%h '\‘ﬂ'ﬂlﬁﬂﬁ'@f ¥ fo ARG &9 21T ©
made-up of : (A) T Bl
(A) Glass (B) SiO, @
(B) SiO2 (C) KBr @I
(C) KBr Srfer
(D) Silicates D) AR
36. The plant of Acacia melanoxylon shows : 36.  UBERT HeAITgard & ey yeffd o € ¢
(A) Cladodes (A) wiSEgH
(B) Phylloclade (B) fhdliaered
(C) Phyllode (C) fredire
(D) Bulbils (D) eifded
37.  Precursor of steroid hormone is : 37. WERIES M BT qaadi qAs ol &
(A) Amino acid tyrosine (A) 3T 7t TRRIRE B
(B) Cholesterol (B) BRI @
(C) Dopamine (C) ST @l
(D) Adenosine monophosphate (D) TRANTET AT B
38. When glycerol is heated with potassium  38. Wd TIRNH @ URRRM gEgoE  dobe
hydrogen sulphate (KHSO4), then product is (KHSOy) & PRI T4 &Rd &, d ST a9al &
formed : s ufis
A
(A) Acetic acid EB; TR
(B) Acrolein e ok
(C) Propionic acid © 9
(D) Allyl alcohol (D) Teflge Tehlele
39.  Kirebs cycle s completed in : 39. e dh AN BT € -
(A) Nucleus (A) T=d H
(B) Chloroplast (B) R w9s ¥
(C) Cytoplasm FfTET :
(D) Mitochondria Eg)) ) ém ;{
40. Hormone responsible for uterine contraction 40. Y94 B IR THEA & deﬁﬂ % forl IR
during childbirth is : TAE B
s e (A) STRRRA
(B) Prolactin
(C) Calcitonin (2) ;ﬁi E'% é? ﬁ‘
(D) All of the above ED)) i o
25/35 87/107/108 D-5



4. H + A ¢ H,CONH,, 4. CHg + A ¢ H,CONH,,
A in the above reaction is : S arfAfeha § A €
(A) NH,CONH, (A) NH,CONH,
(B) CICONH, (B) CICONH,
(C) CH3;CONH, (C) CH3;CONH,
(D) CH,(CI)CONH, (D) CH,(CI)CONH,
42.  Polyembryony was first observed in : 42. SR HAYYH <l T
(A) Citrus (A) foga
(B) Mangifera (B) Ao §
(C) Opuntia () o &
(D) Cocos (D) e E
43. How many contrasting pair of characters used 43, Wved ERT U WA H e foREh ol @
by Mendel in his experiment ? e &7 g foRar Ty o ?
(A) 8 (A) 8
(B) 6 (B) 6
©) 7 (C) 7
(D) 11 (D) 11
44, 1¢r*/ _ = 0.225, then co-ordination number 44 TR T7/,- = 0.225, T W wE@A B -
will be : (A) 2
(A) 2 (B) 4
(B) 4 (C) 6
(C) 6 (D) SUIW H ¥ P13 T8
(D) None of the above
45.  Which one of the following is an autotrophic 45. faefaRes 4 9 o4 Th T Gﬂ'ﬂTUl 27
bacterium ? (A) TEEIIER
(A) Nitrobacfter (B) Fatfefan
(B) Clostridium ©) ESfaa
(C) Rhizobium R
(D) Azotobacter ()
46.  The pacemaker in mammalian (human) heartis: ~ 46.  YHuN! (Ad) ged # UGN @
(A) Sympathetic fibres (A) Rrmdfes wge
(B) Parasympathetic fibres (B) RRmudRs weed
(C) A-V Node (€) T g
(D) S-A Node
(D) TH-T TS
47.  Caprolactam is monomer out of the following: ~ 47.  f4¥ # ¥ $ulelded Tdhdd & :
Egg ]I:le}on g, 6 (A) EA 6, 6 P
ylon € (B) gl 6 &
min
E(];)) ?eerljllenee © I Bl
(D) Rl &1
48.  Which of the microbes is used for alcohol — 48. 3cdleld fhvad & forv ®F Gl Sfia wanT
fermentation ? forar wirar 8 ?
%g; I;eniilillium (A) VIEICIROL]
seudomonas W’*‘W
(C) Aspergillus (B)
(D) Saccharomyces (C) TRRISTR
(D) AHHREA
25/35 87/107/108 D-6



49. The most stable carbonium ion from the  49. fy=foRed § ¥ wad s WIE HEITIH T
following is : 2
(A) CHy" (A) CH*
(B) (CH3),CH* (B) (CH3),CH*
(C) CH3C+H2 (C) CH3C+H2
(D) (CH3) 5C* (D) (CHy) 5C*
50. Smallest flower is : 50. Y BT 7y 2
(A) Wolffia (A) gﬁ.q;m
(B)” Rose (B) e
(C) Lotus (C) B
(D) Rafflesia D) iR
51.  First polar body is formed at which stage of ~ 51. Yo gdry fie @1 MO SfSWFA & I € R0l
oogenesis ? Haae?
(A) Second Meiosis A) fdm SIHL\"[’JIT fopToT
(B) First Mitosis EB; o -‘T’ﬁ S
(C) First Meiosis R
(D) Differentiation tg)) T 3 el
52.  The correct relation for adiabatic expansionof ~ 52. U@ 3MEY I & GEW FAR & forw w8 v B
an ideal gas is : - )
(A) TV t="Te A) Vi7" =TV,
®) T/ Pt =T Bj1 (B) TP =T; P
(C) PVI =PV} (C) BV; =RV;
(D) None of the above (D) SUYH ﬁf q B TR .
53. Ina food chain, the largest population is that ~ 53.  W@rel 3@ # 4991 IET SGEAT B & -
of: (A) SAEH DI
(A) Producers (B) JIqETH &
(B) Decomposers ©) f[c'ﬂ'ﬂ ST @
(&) Te‘rtlary consumers D) T Nm
(D) Primary consumers
54.  Which of the fossils is linked between raptilia ~ 54. &M 9T ilared aﬁgq AR vy ot = B
and aves ? HE! FT WA 8 7
(A) Peripetus (A) Riew
(B) Protopterus (B) ﬂ’lﬂ‘é‘\’ﬂ
(C) Archaeopteryx AR
(D) Echidna E[C)))
55.  Most stable configuration of cyclohexane is : 55.  WTgdeiRddd @ qed 3iftd g aaC §
(A) Howarth form (A) & &Y
(B) Boat form (B) aﬁ'e w®
(C) Newman form :"Iﬁq
(D) Chair form Eg)) IR ;’;{q
56.  Which tissue translocate the absorbed water ~ 56. U H &€ gRT a2 Tl &1 Uil aF Haed
by root to leaf in plants ? g SO T BT & ?
(A) Parenchyma (A) NpTE
(B) Cambium (B) S
(C) Phloem C :
(D) Xylem ED))
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57.  Altruism is a characteristic form of behaviour ~ 57. WRUGINGT TdER e ARV WHY URT AT & :
among : (A) WHIfSTS Ty |
(A) Social animals (B) del & arel W‘{Rﬁ H
(B) Solitary animals :

(C) Both (A) & (B) Eg)) %Aﬁ)[ ?qmgg )?Iff
(D) None of the above

58. The following cell used as primary energy 58.  uielr siaRer sdmy ¥ yrafie ol 9 @ WY
source in Apollo Space Programme : H o O &1 waT oy T e
(A) Lead Storage Cell (A) o o P |
(B) Ni-Cd Cell e defrm
(C) Mercury Cell el Cel EE; wES el W
(D) Hydrogen-Oxygen Fuel Ce .

(D) BTESIH—3iTaiIT §6 Wl

59.  The most toxic metal pollutant of automobile 59,  aredi § & arem fadern BINRIAC 2
exhaust is : (A) Hg
(A) Hg (B) Cd
(B} Cd (©) Cu
(s Cu (D) Pb
(D) Pb

60.  Main excretory organ in cockroach is : 60. ﬁaazé P I Il 37T €
(A) Haversian tubules (A) 2aRiTe afera
(B) Maligian tubules (B) Afeiforg Ao
(C) Malpighian tubules ©) TR e
(D) Aligian tubules (D) TARRA @

61. An organic compound C=40%, 0=53.34% 6. TFH BEMG JNE H§ C=40%, 0=53.34% d
and H=6.66%. The molecular formula of the H=6.66% &| S9 ®E«® e & Wﬁ
organic compound will be : il BT
(A) CHO (A) CHO
(B) CH:O (B) CH,0O
(C) C:H20 (C) C:H20
(D) CH40: (D) CH40:

62. The term ‘ecology’ was introduced by : 62. ‘gH ek Hiauifed fopam T
(A) Haeckel (A) BFdA & gRT
(B) Odum (B) a;ng'q a\; gRT
(C) Tansley ‘ ©) A B BN
(D) Ramdeo Mishra (D) IR 9T B g

63. Larva of Petromyzon is called : 63. UCIHIgS &I @1a T HEan & ?

(A) Nauplius (A) ARed
(B) Tornaria (B) cr=Ram
(C) Ammocoete (C) THRIE

(D) Crinoid (D) wEEs

64. The gas evolved when methyl amine reacts  64. fRelgel THIF @ fAfhar A13ed a7/ & v W
with nitrous acid : g9 aell T B
(A) NH; (A) NH;

(B) N: (B) N
(C) Ha (C) - H;
(D) C:Hs (D) C:Hs

65.  Which of the following is correctly matched ? 65. fo=fafaa § 9 o9 91 981 q:ﬁﬁ:]ﬁ g7
A) Central Rice Research Institute — Shimla ST R
EB; Central Drug Research Institute —Cuttack (A) S5 T : : ~ e
(C) National Botanical Rescarch Institute—Delhi (B) &7 WY SR W — $eh
(D) Central Food Technological Research (C) V&Y qrvyfed U AT — Tl

Institute — Mysore (D) D% @ e SR eI — ?ER:R
25735 87/107/108 D-8



66.  The IUPAC name of K, [Fe(CN)4] is : 66. K,[Fe(CN)4] @ TUPAC 7H % :
(A) Potassium hexa-cyano ferrate (III) (A) UcRrm gaar-urgar BRAe (T10)
(B) Potassium hexa-cyano iron (1) (B) UrcRmm ga—wrgr amged (I1)
(C) Potassium hexa-cyano ferrate (IT) (C) ureRram gwa—argr BRAe (IN)
(D) None of the above (D) Bmiﬂ; ¥ Y P AL
67.  The Taj Mahal is threatened by pollutant : 67. 98 Ugue, fHH a9 Wed @ W & ¢
(A) Chlorine (A) R
(B) Sulphur dioxide (B) R SIS
(C) Hydrogen (C) ergsoH
(D) Oxygen (D) afadie
68.  During culture of silkworm, how many times ~ 68. Y% ®e & FaeH @1 fvar & fra ax FmiET 2an
moulting takes place ? 27
(A) Two times (A) o 9R
(B) Three times (B) @9 R
(C) Four times (C) IR &R
(D) Five times (D) U &R
69.  How many primary alcoholare represented by ~ 69.  CsH,OH ¥ foae wrafie sediea & welfd
the formula CsH{;OH ? Hr & 7
(A) Four (A) TR
(B) Five (B) Ufd
(C) Three (C) &
(D) Six (D) v
70.  Which ionic element is important for opening 70. WD G 91 = 84§ B W JAAS T B
and closing of stomata ? Hecd g 7
(A) Iron (A) 3Ee (cfren)
(B) Magnesium (B) #ifdrgn
(C) Sodium (C) OfeTm
(D) Potassium (D) urRRrEm
71.  What is the function of prostate gland ? 71, " T & @ o1 g @ ?
(A) Collection of semen (A) 9 &1 G FA
(B) To produce mobility to sperm (B) @ @1 e wem aeer
(C) Formation of semen (C) 9 &1 famior
(D) Release to hormone (D) & @ o B
72.  Ethyl Magnesium Bromide react with 72. 4 3UTSd HfEE F LIRS ﬁ?):ﬁ’s'fcﬁ 3T | fosam
Ethanoic Acid, the product formed : Fdl & 74 IAE 94T ©
(A) Ketone (A) drem
(B) Carboxylic Acid (B) wraifeafos ama
(C) Aldehyde TeRIETES
(D) Alkane Eg; T
73.  Translocation of food material in flowering 73,  gwft urqui # v HI WFRRY BT @ -
plants occur in the form of : (A) B B B H
(A) Glucose (B) W$ w7 &
(B) Sucrose ' .
(C) Starch (€) wHBFH
(D) Maltose (D) AT & & H
74. The ‘Taq DNA polymerase an enzyme’ is 74.  'TH S0YF0T0 TN grogH’ fferiad § foba
isolated from which of the following organism? o9 ¥y far orar & 7
(A) Thermus aquaticus (A) o9 sRfCHY
(B) E. Coli (B) %0 Faré
(C) Fungus FHReT
(D) None of the above Eg)) t;q?{i?ﬁ ¥ 9w
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75.  What is chemical formula of permutit ? fi- WF’{QE CARGIRIRED ekl g7
(A) NaAlSiO:- H0 (A) NaAlSiOs3- H,0
(B) NaAlSiOs- 3H20 (B) NaAlSiO4- 3H20
(C) NaxAlSiO4- 2H,0 (C) NaAlSiOs- 2H20
(D) NaAlSiOs (D) NaAlSiO3
76.  Which of the following is a larvicidal algae ? 76. ffoRad § 9 o9 W dara afdassd (Fﬂ?ﬁ
(A) Polysiphonia P ARA qTell) § ?
(B) Cladophora (A) UreEHIRE
(() Bugloma (B) TR
(D) Oscillatoria ©) Uﬁ,
(D)
77.  Bloodisa: 77. IRR T TP
(A) Areolar Tissue (A) TRATR e
(B) Connective Tissue (B) Tl Sae
(©) Liqpid Connective_ Tissge (C) el GaNd
(D) Reticular Connective Tissue D) v 5 N
78.  When 0.5 Faraday of electricity is passed ~ 78. @ 05 B fdgld & NaCl fdergq # yarfed
through NaCl solution, the amount of chlorine T Srar & ar g FANE BT 7T 2R
liberated will be : (A) 17.75 U
Eg ;?'SSgrgnm- (B) 71.0 T
(C) 142.0 gm. (€) 142.09M
(D) 35.5 gm. (D) 3557H
79.  ‘Kranz anatomy’ is found in the following : 79. 9§ ¥ B IRRDY (Kranz anatomy) YTl
(A) C; Plants SIS
(B; gz Piants (A) C3q'|3'rﬁ f{
(C) C4Plants P X
(B) C,Ueul #
(D) None of the above ©) Ci eyt #
(D) SUYH 4§ P Tl
80.  Genes are the : 80. O B & :
(A) Structural component of DNA (A) S0TF0T0 & YIS AaTq
(B) Functional component of DNA (B) S0TH0T0 3 T agag
© pnam © a0
(D) UG # ¥ B T
81. Decreasing stability of the following 81. wfcitad Feidered & wiia &1 gedl H9 & :
carbocation is : ®CH; ®CH, &CH: ®CH:
©CH2 ®CH: ®CH: ®CH: Me
Me (M (1) (111) (V)
M an (M, @ @ (Iv) @ Me X
(A) M>>IV >1 Me (A) HI>MM>1V>1
(B) IV>I=>11>1II
(B IV>1>11>11I
©) I>1v>I11>11
(C) 1>TV>TI>TI B [
D) M>1v>1>1
82.  Continuous variables are diagrammatically  82. ¥ad TR &1 Y@IRET yel¥d foar Sm@r &
represented by : (A) TUS-3ING q
(A) Bar diagram (B) Y@-3NG
(B) Line diagram (C) IR
(C) Histogram
(D) Pie chart (D) W ¥
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83.  Which of the following era is called ‘Golden ~ 83. fymiferRad & @i &1 #eracy Tl &1 w@of T
Age of Reptiles’ ? HEAT & 7
(A) Palaeozoic (A) UfresiEs
(B) Proterozoic (B) WERNS®H
(C) Cainozoic (C) BFNIES
(D) Mesozoic (D) e

84. With the increasing molecular mass of a 84, &0 g9 &1 qfdd ZTEHE gg+ W IFD! W
liquid, the viscosity : (A) Hedt 2
(A) Decreases (B) qadrd
(B) Increases ©) Zm_sg e el
(C) No effect . .
(D) None of the above (D) 3@“ H —‘e‘f DL el

85.  Who proposed the cohesive theory of Ascent 85,  YWRIEY & GHularg (e gfearfed fevar ?
of Sap ? (A) feaa= T Sl
(A) Dixon and Jolly (B) @9
(B) Bose TeaTe
(C) Godlevesky (IC)) .
(D) Crick (D)

86.  ‘Hamburger shift’ is also called : 86. THER g P THT W@ -
(A) HCO3 shift (A) HCO3 Rire
(C) Hydrogen shift ©) TS R
(D) None of the above (D) E‘Tﬁ?ﬁ ¥ zﬁ’a‘ i

87.  4-Chloro-3, 5-di Methylphenol is called : 87. 4—TANI-3, 5315 MAZADMIA Healdl o -
(A) Paracetamol (A) UuRremra
(C) Dettol freta
(D) Chloro Acetal EE)) R T

88. The nulznber of chromosomes inhthe Shct))Ot tipf 88. Hadl @ WIE WY B PIRNGRT § ORE @
cells of a maize plant is 20. The number o g W @ A
chromosomes in the microspore mother cell of 2.0 £ | 3@[ g?ﬁﬂﬁ Ay i
the same plant shall be : TR N
(A) 20 (A) 20
(B) 10 (B) 10
(C) 40 (C) 40
(D) 15 (D) 15

89.  Ovulation in female is under the control of : 89. HAfgeel ¥ eyt fhas fra=or ¥ 2 g ?
(A) LTH (A) Tdoclordo
(B) ADHand LH (B) T0SI0TT0 3R YeAoTd0
[ & v 3 o

(D) TA0SI0TA0 3R TIOTHOTHO

90. Isotonic triad of nucleus is : 90. @I &1 wHgIE e g
(A) 6CH, NS, gFY (&) z0%, N5, FV
(B) §C'2, N, oF™ (B) 4C'2, ;N gF"?
(C) 6C%, 7N, oFY (C) §C™, N, oF"
(D) (CH, /N, gF*? (D) C'*, N, oF*

91. Special “Velamen tissue” found in the root of 91, A9 I S 39 Gl B RN H U S g:
plants : (A) T
(A) Banyan B) TEREE
(B) Bryophyllum (C; anfs
(C) Orchid (
(D) Maize (D) HIPI
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92.  The deficiency of platelets is called : 92. wicclcd @I HH FEAN @
(A) Polycythaemia (A) UiciramgeRf
(B) Thrombocytopenia (B) grearargerdifa
(C) Thalassemia (©) e
(D) None of the above D) '\W{Fﬁ ¥ PR &
93.  Forbidden transition, according to Laporte’s 93, U T @ AR H fdeT IHAT § ¢
Rule is : (A) d—p HhHIT
(A) d-p Transition (B) s—p B
(B) s—p Transition (C) s— d B
(C) s—d Transition D) d— ddHau
(D) d - d Transition (D)
94.  Which is called the ‘suicidal bag of cell’ ? 94. ‘PIHT BN e Il fHe Fed & ?
(A) Dictyosomes (A) fefoearm
(B) Ribosomes (B) Is9MM
(C) Lysosomes RIERKIE
(D) Mitochondria Eg)) it
95.  Apopyles are : 95. @Wﬂ B8
(A) Opening of radial canal into spongocoel (A) ASTA BT BT TUATE H Gl
(B) Opening of incurrent canal into spongocoel (B) aadt a1t @1 W & G
(C) Opening of radial canal into incurrent canal (C) T et Bl e aere | e
(D) Opening of incurrent canal into radial canal :
(D) M el BT I DT H Garl
96. One mole of magnesium nitride on reaction ~ 96. UG Al AHIRRA RS W @I AoHAr H
with excess of water gives : fAfhar oY T &
(A) 2 mole of HNO3 (A) 2 ¥l HNO:
(B) 2 mole of NH3
(C) 1 mole of NH; (5] 2 33 NHs
(D) 1 mole of HNO; (C) 1 NH;
(D) 1 A1 HNO;
97.  Oxysomes are located inside the : 97. @i SURYd B ® ¢
(A) Mitochondria (A) WEedifgal & Haw
(B) Plastids (B) Ta@l & N '
(C) Lysosomes (C) T B A
(D) Golgi body (D) oot &1 & AR
98. The number of chromosome in ‘down  98. ‘SR RigM # TUREI &I W& &Nl 2:
syndrome’ is : (A) 45
(A) 43 (B) 44
(B) 44 (C) 47
(C) 47 (D) 46
(D) 46
99.  From the following, Ozone in stratosphere is 99, WARER § A &7 A9 & RV BT ¢ -
depleted by : (A) CF:Ch
(A) CF:Ch
(B) CsHis (8] el
©) CiFu (©) CiFie
(D) CeFs (D) CsFe
100. Sterols are not fats but solid alcohols. These ~ 100. R a9 7 81 I AcHIEd aid & M2 ¥l 52
are put as lipid because they form : fafie @er 9l & Fifh 3 T §
(A) Fats and fatty acids (A) 9179 TUT 3
(B) Triglycerides (B) gfowvgsa
(C) Cholesterol (C) Brergta
(D) Esters and fatty acids (D) X T T
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F ot R @ el oo A R yER A s o @, A Sl aeia @ A g |

If there is any mis-match in Hindi & English version, then english version will be acceptable.

F Baer S0THOAR0 SR-uEE W FEd SR W & fore 9 | S0THONR0 SER-TAS T TE-IRaT R BIg
aifa firg 7 R AR A & B W A s AW ford | 7' e v R 6 1@ AR it e T e A
e W voE @ a1 e ¥ fier @ o= Ry @ gree a1 Bum @ wre e g ot 21 5 seR @)
HHTE FE W RS 3 Y o |

Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also
insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.

& e a1 (Rough work) T gRaeT 4 € fbar W |
Rough work is to be done in the Question booklet only.

T yde g B SR ¥g A TG R B IER @ & o B FER R | U6 ¥ IfE W T gl 9 9
AR T BIE fae a1 U @1 Uiagee anfe @ o Sedy /T GO |

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.

IR : A oo et w1 o e 41 59 YR €

Example: Suppose Q.No. 41 of the subject is as below:

Q.No. 41:  What type of mixture is smoke ? §3ﬁ e yoR &1 fso & ?
(A)  Solid mixed with a gas (A) ¥ 4B e
(B) Gas mixed with a gas (B) i fafda
(C) Liquid mixed with a gas (C) w faf¥a 73
(D)  Gas mixed with a liquid and a solid (D) @d U4 3ra fafda i

e D FJHR 36 U &1 9 S/ AFed (D) &, T SaR-U36 A U ST ¥ Hefd favg—avg dfem wed we
41 I B Iad B 59 TR W |

If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Answer-sheet as follows:

weér fafer Terg fafdy

Correct method Wrong method

OO -

(afe wrorer fofdy & +ff fobelt ama et & @13 fore @vmar @ 1 W SR & W O @1 Y & SFER e SR Ad
BV BT Helferd 3fF FOMHS 81T E )

(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)

T el 7 Ry v Qe @ o € fe AR 9% @ ve-gRaet § A B o IS we IRyt dua
T fiel o guel e ) b FREs 31 < R Tee Us 51 Rl o 69 s g B guRT o 696 |

The candidates are strongly advised that in case they come across any discontinuity in the serial number of the
questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them.

T e ¥ goiiG 6 Agee degeek au o SAagiRG W S AaEe B, ToR SR @1 W e quie: a2

Use of electronics/manual calculator and any electronic equipment like mobile phone etc. is not allowed.

1. T W RS AP BT M 2| TS T SR B oY ¥ 3 Brer @ |
There is NEGATIVE MARKING in this examination. For every wrong answer % mark will be deducted.

2 9 W B A A3 A IRG TR W R A A 3% &1 WauH 8| 5w 8 T IR B AR v 3% Frer o
On giving of two or more than two answer for every question, % mark will be deducted.

3. ¥W IR0 § I 9geHie R Fe FR (Rough Work) & afoRaw @8 7 Rl
Do not write anything except the Roll Number and rough work in this Question booklet.

4. W TG B TR OMR Ui B R BEd 3 W A A A R B g ofy B wdendf o wm
o SR o W U 9 Rt o we e @) suee s |
Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate will
carry candidate’s copy and handed over the original and office copy of OMR Answer Sheet to the Invigilator.



